SAVANT

Savant® Shades Inside/Jamb Type Mount (Manual)
Drive Side (SHA-B2MANUALXX-XX)
Quick Reference Guide

The SHA-B2MANUALxx-xx mount kit is designed for mounting the drive side of a manually operated Savant shade into a window jamb
or wall (typically at the corner of a wall). The mount is installed using two #8 flat head screws (included) and can be screwed directly to
the wall (if sub wall allows). If required, the use of drywall anchors can be used. The SHA-B2MANUALXxx drive side shade mount should
be the first mount installed when installing a shade using the inside/jamb type mounts. Once installed, it can be used as a reference
point for installing the remaining mounts for the shade.

Box Contents

Shade Mount
Tube End Plug (1) Shade Mount - Inside/Jamb Type Mount - Drive Side
1 . J, (1) Shade Tube End Plug
Q D N (1) #8 Flat Head Mounting Screws
| — (1) Ball Chain (6 foot loop)
@ {;’8{} @ E _|:;:| (1) #10 Ball Chain Coupler
<] D i 2 (1) Universal Cord Guide Chain Retainer
— (2) #8 Pan Head Retainer Mounting Screws
(1 Quick Reference Guide (this document)

Front View Side \7iew

Mounting Instructions

1. Place the shade mount onto the wall where it will be mounted. Face View Side View
Mark the placement of the two screws that secure the mount s
to the wall. Ensure the following: jamb head (minimumy jamb head
- Center point of the shade mount is installed at least 1%, famb face
inches (4.45 cm) from any obstructions. e M e
o in. ./ .
- Use painters tape to reduce marking up the walls whenever (minimum) (minimum)
drilling is involved. Q D

(7] HELPFUL! @ {g} @ E

+  The 1%, inches shown in the images to the right are the <] D
minimum distance needed for the shades to operate prop-
erly. If desired, this distance can be adjusted outward.

jamb face

e To aid in the installation of the mounts, a template (SHA-INSTEMP-xx) is available. This template contains the holes and required
spacing needed to install any of the Savant system shade mounts.

2. Secure the bracket to the wall using the two supplied #8 flat head screws. If required, wall anchors can be installed if the wall that
the mount is being attached to does not have a sub wall to screw into.

3. Use the SHA-B2MANUALxx shade mount just installed as a guide for when installing the idler side mount and any other required
shade couplers.

With all shade mounts installed, the shade tube assembly, ball chain, and ball chain retainer can be installed. For step by step
instructions on finishing the installation, refer to the Manual Shades section of the Shades Installation and Wiring Guide (009-1532-xx)
found on the Savant Customer Community.

SHA-B2MANUALxx-00 | 009-1539-01 | 200106 45 Perseverance Way, Hyannis MA 02601
Copyright ©2020 Savant Systems, LLC savant.com | 508.683.2500


http://www.savant.com

